
BIOLOGY (THEORY)

CLASS-XII

Time Allowed-3 Hours 15 Minutes                                                                                      Full Marks-70

General Instructions :-
i) There are a total of 30 questions in four sections in the question paper. All questions are compulsory.
ii) Section A contains questions number 1 to 8, very short answer type questions of 1 mark each.
iii) Section B contains question number 9-18, short answer type I questions of 2 marks each.
iv) Section C contains question number 19-27, short answer type II questions of 3 marks each.
v) Section D contains questions number 28-30, long answer type questions of 5 marks each.

!Óû˛yàÈÙÈÜ˛

!ö¡¨!°!áï˛ ≤ÃŸ¿à%!°Ó̊ í z̨_Ó̊ òyÄ ı                                                                                                           1x8=8

1– ≤ÃÜ˛Ó˚î §,!T˛ §%!ö!ÿ˛ï˛ Ü˛ Ï̂Ó˚ ˆÜ˛yö ≤ÃÜ˛yÓ˚ çöö⁄                                                                                              1

2– fl∫yû˛y!ÓÜ˛ !˛õï˛yÈÙÈüyï˛yÓ˚ ~Ü˛!ê˛ !•ˆÏüy!ú˛!°Ü˛ ˛õ%e §hsˇyö çß√y°– ~ˆÏ«˛ˆÏe !˛õï˛yÈÙÈüyï˛yÓ˚ !çˆÏöyê˛y•z˛õ ˆ°ˆÏáy–                           1

3– §ç#Ó í z̨!qò ˆÜ˛y£Ï̂ ÏÜ˛ Úˆê˛y!ê˛ Į̈̂ õy Ï̂ê˛rê˛Û Ó Ï̂° ˆÜ˛ö⁄                                                                                               1

4– ~ Ï̂:y!öí z̨!Üœ̨ Ï̂Î˚ç í z̨Í Ï̂§ã˛ Ï̂Ü˛Ó˚ Ü˛yç Ü˛#⁄                                                                                                      1

5– ï˛y˛õ§• !í˛.~ö.~. ˛õ!°üy Ï̂Ó˚̂ ÏçÓ˚ í z̨Í§ Ü˛#⁄                                                                                                  1

6– Ú!çö àyöÛ Ü˛#⁄                                                                                                                                   1

7– BODÈÙÈÓ̊ §¡õ)î≈ öyü !°á–                                                                                                                          1

8– ˆÜÑ̨ Ï̂ã˛y Ï̂Ü˛ Ü˛Ü≈̨ Ó˚û˛«˛Ü˛ Ó Ï̂° ˆÜ˛ö⁄                                                                                                              1

[N. B. ÚÜ˛Û !Óû˛yˆÏàÓ˚ ≤ÃŸ¿à%!° MCQ ôÓ˚̂ ÏöÓ˚Ä •ˆÏï˛ ̨ õyˆÏÓ˚–]

!Óû˛yàÈÙÈá

!ö¡¨!°!áï˛ ≤ÃŸ¿à%!°Ó̊ í z̨_Ó̊ òyÄ ı                                                                                                           1x8=8

9– §˛õ%‹õÜ˛ í z̨!q Ï̂òÓ̊ ̨õ%ÇÈÙÈ̂ Ó̊î%fiÌ°# Ï̂ï˛ ̂ ê˛ Į̈̂ õê˛y Ï̂üÓ̊ xÓfiÌyö Ä Ü˛yç ̂ ° Ï̂áy– ~•z hflÏÓ̊ §,!T˛Ü˛yÓ̊# ̂ Ü˛y£Ïà%̂ Ï°yÓ̊ ò%Û!ê˛ ̃ Ó!¢T˛ƒ ̂ ° Ï̂áy–1+1=2

xÌÓy

Ü˛˛õyÓ˚ T ˆÜ˛ í z̨ÍÜ,̨ T˛ çß√ !öÎ˚sfÜ˛ Ó)̊̂ Į̈ õ àîƒ Ü˛Ó˚y •Î˚ ˆÜ˛ö⁄                                                                                     2

10– !• Ï̂fiê˛yö Ü˛#û˛y Ï̂Ó ôöydÜ˛ xyôyöÈÙÈ@ˇÃhflÏ •Î˚⁄                                                                                                     2

11– §üÓ,_#Î˚ xAà§ü)• x!û˛§yÓ˚# !ÓÓï≈˛ˆÏöÓ˚ ú˛°ÈÙÙÈ~Ü˛!ê˛ í˛zòy•Ó˚ˆÏîÓ˚ §y•yˆÏÎƒ Óƒyáƒy Ü˛Ó˚–                                        2

12– Ó˚ˆÏ=˛Ó˚ ÚOÛ ̂ ◊!îû%˛=˛ ̂ Ü˛yö ü!•°yÓ˚ §ˆÏAà ÚABÛ ̂ ◊!îû%˛=˛ Óƒ!=˛Ó˚ !ÓÓyˆÏ• §,T˛ §hsˇyöˆÏòÓ˚ §Ω˛yÓƒ Ó˚̂ Ï=˛Ó˚ ̂ ◊!îà%!° Ü˛# •ˆÏÓ⁄      2

13– ˆüê˛y Ï̂fiê˛!§§ Ü˛#⁄ ~!ê˛ ≤Ãyîâyï˛# ˆÜ˛ö⁄                                                                                               1+1=2

14– ˆ≤ÃyÈÙÈ•zö§%!°öˆÏÜ˛ ~Ó˚)˛õ ÓˆÏ° ˆÜ˛ö⁄ •zö§%!°ˆÏöÓ˚ §yˆÏÌ ~Ó˚ ˛õyÌ≈Ü˛ƒ Ü˛#⁄                                                         1+1=2

15– ê ∆̨y™ Ï̂ç Ï̂ö!§§ Ü˛y Ï̂Ü˛ Ó Ï̂°⁄ ~Ü˛!ê˛ ê ∆̨y™ Ï̂ç!öÜ˛ ≤Ãyî#Ó˚ öyü ˆ° Ï̂áy–                                                                1+1=2
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16– Óy›ï˛y!sfÜ˛ !˛õÓ˚y!ü Ï̂í˛Ó˚ ò%Û!ê˛ §#üyÓÂôï˛y í ẑ̨ ÏÕ‘á Ü˛Ó˚–                                                                                      2

17– §ü%oÈÙÈí z̨̨ õÜ)˛°Óï≈˛# xM˛ˆÏ°Ó˚ çˆÏöƒ û)˛ÈÙÈí˛z£÷yÎ˚ö !Ó˛õIöÜ˛ ˆÜ˛ö⁄                                                                          2

18– Ü ̨ y•z ˆ≤Ãy!ê˛ö Ü˛#⁄ ~!ê˛ ˜ï˛Ó˚# Ü˛ Ï̂Ó˚ ~üö ~Ü˛!ê˛ ç# Ï̂ÓÓ˚ öyü ˆ° Ï̂áy–                                                              1+1=2

!Óû˛yàÈÙÈà

!ö¡¨!°!áï˛ ≤ÃŸ¿à%!°Ó̊ í z̨_Ó̊ òyÄ ı                                                                                                         3x9=27

19– üyöÓ !í˛¡∫y¢ˆÏÎ˚Ó˚ ~Ü˛!ê˛ ̂ åÈòÈÙÈ!ã˛e xAÜ˛ö Ü˛ˆÏÓ˚ !ö¡¨!°!áï˛ xÇ¢à%!° !ã˛!•´ï˛ Ü˛Ó˚ÈÙÙÈ

Ü˛V ≤ÃyÌ!üÜ˛ !í˛¡∫Ì!°ñ áV @ˇÃy!ú˛Î˚yö !í˛¡∫Ì!°ñ àV ˛õ#ï˛ @ˇÃ!rÌ                                                                        1ÈÙÈ
1
2+1ÈÙÈ

1
2=3

xÌÓy

üyö%̂ Ï£ÏÓ̊ ¢%̂ ÏÜ ̨ yÍ˛õyòÜ˛ öy!°Ü˛yÓ̊ ~Ü˛!ê˛ ̂ åÈòÈÙÈ!ã˛e xAÜ˛ö Ü˛ Ï̂Ó̊ !ö¡̈!°!áï˛ ̂ Ü˛y£Ïà%!° !ã˛!•´ï˛ Ü˛Ó̊yÙÙÈ

Ü˛V ÎyˆÏòÓ˚ üy•zˆÏê˛y!§§ ≤Ã!Ü ˛Î˚yÎ˚ §Çáƒy Ó,!Âô •Î˚

áV Îy Ï̂òÓ̊ ̂ «˛ Ï̂e !ü Ï̂Î̊y!§ Ï̂§Ó̊ ≤ÃÌü ̨õÎ≈yÎ̊ §Çà!ë˛ï˛ •Î̊

àV Îy Ï̂òÓ˚ ˆ«˛ Ï̂e !üˆÏÎ˚y!§ˆÏ§Ó˚ !mï˛#Î˚ ˛õÎ≈yÎ˚ xö%!¤˛ï˛ •Î˚                                                                              1ÈÙÈ
1
2+1ÈÙÈ

1
2=3

20– xV §§ƒ° Ä x§§ƒ° Ó#ç Ü˛yˆÏÜ˛ ÓˆÏ°⁄

xyV º)îfiÌ°# ~ÓÇ !í˛¡∫̂ ÏÜ˛Ó˚ ̂ Ü˛yö ̂ Ü˛yö xÇ¢ ̂ ÌˆÏÜ˛ !öˆÏã˛Ó˚ àë˛öà%!° ̃ ï˛!Ó˚ •Î˚ÈÙÙÈ

Ü˛V ˛õ!Ó˚º)îñ áV Ó#çcÜ˛ñ àV §§ƒñ âV º)îy£Ï                                                                                        1+SÈÙÈ
1
2x4V=3

21– Ü˛#û˛yˆÏÓ hn RNA ˆÌˆÏÜ˛ m RNA í z̨Í˛õß̈ •Î̊⁄                                                                                            3

22– ≤Ãçy!ï˛Ü˛Ó˚î Ü˛#⁄ ~•z ≤Ã!Ü ˛Î˚yÎ˚ ≤ÃyÜ,˛!ï˛Ü˛ !öÓ≈yã˛ˆÏöÓ˚ û)˛!üÜ˛y Óƒyáƒy Ü˛Ó˚–

23– xV AIDS ˆÓ˚yà §,!T˛ Ü˛ Ï̂Ó˚ ˆÜ˛yö û˛y•zÓ˚y§⁄                                                                                          1+2=3

       xyV ~•z û˛y•zÓ˚y§ §ÇÜ ˛üˆÏîÓ˚ ˛õÓ˚ xöyÜ ˛üï˛y •…yˆÏ§Ó˚ âê˛öyÜ ˛ü ôyÓ˚yÓy!•Ü˛ û˛yˆÏÓ Óƒyáƒy Ü˛Ó˚–                                      1+2=3

24– ÓyˆÏÎ˚yÈÙÈú˛!ê˛≈!ú˛ˆÏÜ˛¢öˆÏÜ˛ çöfl∫yˆÏfiÌƒÓ˚ í˛zß¨!ï˛ˆÏï˛ §ˆÏÓ≈yÍÜ,˛T˛ ÓƒÓ•y!Ó˚Ü˛ ̨õrÌy ÓˆÏ° ̂ Ü˛ö⁄ !ï˛ö!ê˛ í˛zòy•Ó˚̂ ÏîÓ˚ §y•yˆÏÎƒ ̂ ï˛yüyÓ˚ í˛z_Ó˚

Óƒyáƒy Ü˛Ó̊–                                                                                                                                             3

25– ˛õ!°üy Ï̂Ó˚ç ¢,C° !Ó!Ü ˛Î˚yÓ˚ !Ó!û˛ß¨ ˛õÎ≈yÎ˚à%!° Óƒyáƒy Ü˛Ó˚–                                                                                 3

26– í z̨̨ õÎ%=˛ !ã˛ˆÏeÓ˚ §y•yˆÏÎƒ Ú°!ç!fiê˛Ü˛ ˛õ˛õ%ˆÏ°¢ö ˆ@ˇÃyÌÛ Óƒyáƒy Ü˛Ó˚–                                                                         3

27– ö@¿ ≤ÃhflÏÓ˚àyˆÏe Óy›ï˛y!sfÜ˛ ̨õÎ≈yÎ˚Ü ˛üˆÏÜ˛ Ü˛# ÓˆÏ°⁄ ~•z ̨õÎ≈yÎ˚Ü ˛ˆÏü Üœ̨ y•züƒy: Ü˛!üí˛z!ö!ê˛Ó˚ í˛zqÓ Ü˛#û˛yˆÏÓ •Î˚ Óƒyáƒy Ü˛Ó˚–  1+2=3

!Óû˛yàÈÙÈâ

!ö¡¨!°!áï˛ ≤ÃŸ¿à%!°Ó̊ í z̨_Ó̊ òyÄ ı                                                                                                         5x3=15

28– !ã˛e§• §˛õ%‹õÜ˛ í˛z!qˆÏò flf#ˆÏÓ˚î% í˛zÍ˛õyòö ˛õÂô!ï˛Ó˚ ˛õÎ≈yÎ˚Ü ˛ü í˛zˆÏÕ‘á Ü˛Ó˚–                                              3+2S!ã˛eV =5

xÌÓyñ

Ó˚çÉã˛Ü ˛ Ü˛#⁄ ~•z ã˛Ü ˛ !öÎ˚sfˆÏî !˛õê%˛•zê˛y!Ó˚ Ä !í˛¡∫y¢Î˚ !öÉ§,ï˛ •Ó˚ˆÏüyöà%!°Ó˚ û)˛!üÜ˛y ˆ°á–                                      1+4=5

29– fl∫yô#ö §M˛Ó˚î §)e!ê˛ !ÓÓ,ï˛ Ü˛Ó˚– ˛õyˆÏöê˛ ÓˆÏà≈Ó˚ §y•yˆÏÎƒ !mÈÙÈ§ÇÜ˛Ó˚ çöˆÏö ~•z §)e!ê˛Ó˚ ÎÌyÌ≈ï˛y Óƒyáƒy Ü˛Ó˚–                1+4=5

xÌÓy

•yˆÏ§≈ÈÙÈˆã˛§ÈÙÈ~Ó˚ ˛õÓ˚#«˛y!ê˛ Óî≈öy Ü˛Ó˚– ~•z ˛õÓ˚#«˛y ˆÌˆÏÜ˛ Ü˛# ≤Ãüy!îï˛ •ˆÏÎ˚!åÈ°⁄                                                       4+1=5

30– üyöÓ ̂ òˆÏ• üƒyˆÏ°!Ó˚Î˚y §,!T˛Ü˛yÓ˚# ç#Óyî%!ê˛Ó˚ öyü Ü˛#⁄ ≤ÃÓy• !ã˛e Sˆúœ̨ yÈÙÈã˛yê≈˛VÈÙÈ~Ó˚ üyôƒˆÏü ~Ó˚ ç#Óöã˛Ü ˛!ê˛ ̂ òáyÄ–          1+4=5

xÌÓy

~Ü˛!ê˛ ~!u˛Ó!í˛Ó̊ !ã˛!•´ï˛ !ã˛e xAÜ˛ö Ü˛Ó̊– ~Ó̊ àë˛ö Óî≈öy Ü˛Ó̊–                                                                        2+3=5

ENGLISH VERSION

SECTION-A
Answer the following questions.                                                                                                     1x8=8
1. Name the mode of reproduction that ensures the creation of new variants.                                             1
2. A haemophilic son was born to normal parents. Give the genotypes of the parents.                                  1
3. Why are living plant cells said to be totipotent?                                                                                     1
4. State the functions of an exonuclease.                                                                                                1
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5. Mention the source of thermostable DNA polymerase.                                                                          1
6. What is gene gun?                                                                                                                           1
7. Expand BOD.                                                                                                                                   1
8. Why are earthworms called detritivorous animals?                                                                               1
[N. B. : Question of Section A may also be of MCQ type]

SECTION-B
Answer the following questions.                                                                                                  2x10=20
9. Mention the location and function of tapetam in microsporangium of angiosperms. Mention two
characteristic features of the cells forming the layer.                                                                           1+1=2

Or,
Why is Copper T considered a good contraceptive device to space children?                                          2
10. How do histones acquire positive charge?                                                                                         2
11. Analogous structures are a result of convergent evolution. Explain with the help of an example.             2
12. A woman with blood group O married a man with AB group. Show the possible blood groups of the
progeny.                                                                                                                                              2
13. What is metastasis? Why is it fatal?                                                                                        1+1=2
14. Why is proinsnlin so called? How is insulin different from it?                                                        1+1=2
15. What is transgensis? Name one transgenic animal.                                                                   1+1=2
16. Mention two limitations of ecological pyramid.                                                                                   2
17. How does global warming pose a threat to the coastal areas of the earth?                                       2
18. What are Cry proteins? Name an organism that produces it.                                                        1+1=2

SECTION-C
Answer the following questions.                                                                                                    3x9=27
19. Draw a sectional view of human ovary and label the following parts :

i) Primary follicle, ii) Grafian follicle iii) Corpus lecteum                                                                1½+1½=3
Or,

Draw a sectional view of seminiferous tubule of a human and label the following cells
i) cells that divide by mitosis to increase their number.
ii) cells that undergo meiosis-I
iii) cells that undergo meiosis-II                                                                                          1½+1½=3

20. a) What are albuminous and non-albuminous seeds?
     b) Name the parts of ovule and the embryosac of an angiosperm that develop into—

i) perisperm ii) seed coat
iii) endosperm iv) embryonal axis                                                                                     1+ (½x4)=3

21. How is hn RNA processed to form mRNA?                                                                                        3
22. What is speciation? Explain the role of natural selection in speciation.                                   1+2=3
23. a) Name the virus that causes AIDS in human.

b) Explain the sequence of events that follows, when the virus attacks to cause immuno-defficiency in
human?                                                                                                                                  1+2=3

24. Why is biofortification considered the most practical means to improve public health? Explain taking three
      examples.                                                                                                                                           3
25. Explain the different steps involved in each cycle of polymerase chain reaction.                                   3
26. With the help of a suitable diagram describe the logistic population growth.                                         3
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27. What is ecological succession on bare rock called? Explain how climax community gets established in
this succession.                                                                                                                           1+2=3

SECTION-D
Answer the following question.                                                                                                      5x3=15
28. Describe the sequence of the process of megaspore genesis in angiosperm with diagram.     3+2 (Fig)=5

Or,
a) What is menstruation?
b) Explain the role of pituitary and ovarian hormones in the regulation of menstrual cycle.                    1+4=5

29. a) State the law of independent assortment.
b) Explain the law from a dihybrid cross using Punnet square.                                                         1+4=5

Or,
Explain Hershey-Chase experiment. What was proved through this experiment?                                 4+1=5

30. Name the pathogen that causes malaria in human being. Show its life cycle with the help of a flow chart.
1+4=5

Or,
a) Draw a labeled diagram of an antibody molecule.
b) Describe its structure.                                                                                                         2+3=5

SAMPLE QUESTION PAPER

BIOLOGY (PRACTICAL)

CLASS-XII
Time Allowed-3 Hours                                                                                                        Full Marks-30

1. Major Experiment :                                                                                                                 5 marks
(Any one from the following)
a) Study of plant population frequency by Quadrat method./Study of plant population density by Quadrat
method.
b) To study the effect of the different temperature & three different pH on the activity of salivary amylase on
starch.
Marks distribution for Major experiment—

Procedure-02
Observation-02

Inference-01
Total-05

2. Minor experiment.                                                                                                                   4 marks
(Any one from the following)
a) Collect & study soil from at least two different sites and study them for texture, moisture content, pH and
water holding capacity of soil. Correlate with the kinds of plants found in them.
b) Collect water from two different water bodies around you and study them for pH, clarity and presence of any
living organisions.
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c) Study the presence of suspended particulate matter in air at two widely different sites.
Marks distribution for Minor experiment—

Procedure-02
Observation-02

Total-04
3. Slide preparation :                                                                                                                  4 marks
(Any one of the following)
a) Study of pollen germination on a slide.
b) Prepare a temporary mount of onion root tip to study mitosis.
Marks distribution for slide experiment—

Preparation of slide-02
Drawing & Labelling-1+1=02

Total-04
4. Spotting (Any four from the following)
a) Flowers adopted to pollination by different agencies (wind, insect)
b) Pollen germination on stigma through a permanent slide.
c) Identification of stages of gamete development i.e. T. S. of testis and T. S. of ovary through permanent slide.
(from any mammal).
d) Meiosis in onion bud cell or grass hopper testis through permanent slides.
e) T. S. of blastula through permanent slides.
f) Mendelian inheritance using seed of different colour/size of any plant.
g) Prepare pedigree charts of genetic traits such as rolling of tongue, blood groups, widow’s peak, colour
blindness.
h) Exercise on controlled pollination-Emasculation, tagging & bagging.
i) Identification of Common disease causing organism like Asearis, Entamoeba, plasmodium, ringworm through
permanent slides or specimens. Comment on symptoms of diseases that they cause.
j) Two plants and two animals found in xeric condition, Comment upon their morphological adaptations.
k) Plants & Animals found in Aquatic conditions Comment upon their morphological adaptations.

Marks distribution for Q. No.--4 (Spotting)
Each spotting carries  02 marks.

Correct identification- ½ marks
Characteristies (3 nos.)= 1½ marks

Total- 02 marks
5. Practical record & viva voce=4 marks (Practical record=02 + viva voce=2)
6. Project record & viva voce

Project record=03
Viva on project=2

Total=5

Page : 5


